powe,r Su'py\-! €y \ecs (2~',3)

Recal\ --- | |
A Y‘ac%’ﬂ'er PU\«'\T ot go»wdk,g? It ke this'

We want OC\ ku'h-mf*‘ rl'eflz. .

Tdea

Add G pr¢cs"h‘>r

T+ cheges wher i

diode 1s on, fhey
ho lds the c,kavge.

| ol b

.

L\O\As {he w\"‘ﬂ7( to

T"\L Ca ac\-’\”O"
narly Fh peak W ltey:

on Qw G SLNV}.

The didde is only
e/yi_o()\ Q_SV Fle P(}-k-

The OwWW\' lhas & S mall () r[gg‘e .

(Lma‘( Ltoa ! Ck&/ﬂ‘\ LU'C>

Reall =+ The Armata for-a Cepacity vo g decayfg .
-t
V, (&) = Vme ® T -MS“
(_ oy Ime Constantr

RC

,E‘X/l € Switch opers ot £50

= (T4 is like ia inpat ity so tre divde fyres off
—4% e

For " Power S“W‘Y Fz’!krs,

fo lem e
¢ IitHe rf/p({/

l/‘/‘e Can ok\y

SO T (.5 h’\ucl—\ {0"9€V'
_\'l’\&l’\ *‘kl f’)P‘Jk_ Pe-yfo‘l_ (TP>
( tim behicen peats)

6PPranime \7 .

(AC’mJH - ,%68Vn
,368 = 9,4 ’:f'g

The smallest oulput voltege (o Ghen the
&il)ASl bivins loack Gm -- afler tine T’
-1’
T
V= Vp e
‘Herem .-

Ripole vo ltege 15 fla 1 .
\/t* =V, Vo =V, ((l —e c>



We need |y S‘APPI‘/ & Curremt (I) A Powev’s.u)op)\/ must deliver {00 Yo l4s

= Gt 10O MA  with  less than JOvalts (/th’/’ﬂ/‘»)
We can tolevat  some ripele VZ

. ripple . Whet s C7?
. dv Power frequensy =¢oHe
RGCA.” I:C-J-_E' @:CV
e )
Baslc C«ya\%v Cquatitns .. Solution, Chelf wave )
d N
I: 22X & defnition of~ _ T __ _elA -
dt Curvent TVE T fowmom) = 166,77 x10 *Foraa
For half wave —- 4{"—70‘— = {667 ut
'pu” wave -- dt = %‘_P‘ t—b'?‘nt
volbe — P Full weve — p 120 Hz
o Fivre =
dv
So T-=¢ ’3'_[:',\ T |
/\ Time between pesks. C= VR'F ~ (10)(120) = ¥3.3 s
DC Load
Cuvrent X\J ‘ \

i L =CWf

f

dt

R(awrﬂmcje ‘
| I
C =




iy

Vaviands of tha fruwla -.

C: \_/_L"- I};
Ww R
With Currend - Vh: TR
cC= I\_& __[?__ L TP &— U$w||-,, fLis 1
Vf' S = VY- j "ﬁ:(k:sfc;f v
ovr c=_1_ R
Ve =
HalF wove R —
C= (10)(¢0) (67wt
F’““ Whv‘c -' rd I
C= oyamy - t33wm

Diode couvrewt  and Copsator Curred

The C‘/C\Q/ \/l«*' (0sd carret Ploss Cc:diwou:\7'

T4 Comes P the cepacitor

PQ_&k C(/\(f(h}" (s thcl'\ L\r‘? her

ﬂ'\ﬂ.h QJQVaje C\Afr(‘J"

| ptke
Cowiduels
owly here

To  calenla’ At ---- (_Dz_a\
V.= VUm cos (w At) S T cdsout
at oy
Tah‘-\g M Finy 2 derms of th Taylor senes - i‘l—«‘l:t:.“--
o= 14 g,
v, 4

pRie—

Vo=, (1= Fwatl) 7 WA

7
U~V = U (1= % (2] _JE
= M
V-V = Vi — v{\(w at)” A —
VY: \Lzﬂ (W A‘t)z Exﬁb!‘e .'(
20y
2\/[ 2 At = loo _
= (W/.\‘t) Tweo 1,18 w0

Vy ~



¥

CLarje lost by capacrhe to losd:

Q@ =CVr clee Q=1IT g
‘I ro (o)
This CLbij musT Do restoreh when b |divde I's on
- | e
. | i
Q - " At l\i &)‘dmp'e .
= > = (er)00)
f» C/Lofk{.,\z = .67 )l\o-sta.d.
Ovg. CayrenA
*lv\viv CL-a,,c_. E xample !
0 - _(2_ I = 67 w3
lp = e Cr T e xie®
= YIS Anp.

D(th Cuflrent = Cayp Curret T {0ecl Currensr

oo = feap T tan PRI
> l.51S
Bod that assemes (4 s G P
T,* i%k""l

V

T

/’rc*\m.\ s L\\")kef ﬂf““ \’“j'kkf"),ﬂwv\ h«"pm of'f-
h 3

|
] :
[ {

e TR T T T e i -

TtHrs rowgkly iviamgular,
Co dle peal 1y abowr twie the avivige
C3p e thos
emmplc.>

Exerases'
6"0" to L\ok) l.l—\)

A #
el I
63 23,45
e7°  ¢#,8 1)
T0 hend i, "
P.A5 D 253

I+ dUeSk‘f‘ Come 0wt exact.
Get as clse as Youcan,
ASst e VD =.7
Whetts peak diode current ?

Peak mmverse dibdde Vo |f|9¢ ?



Reverse vo Woqe ocrass dindes — uibl Rilter Do clani - e
! /e519hing G power suppl
ve rewr P J;P—y
H€® S a Circ Rece M . | D ek o iy
{ @ The ontput ve H’jt s’ (ku&@)
- "

@ Dedermine V/"\/ Vo

from specs.

OV R

The wlhege oF e ()5

" 3 Take V,, -
Add Ui Hooe (a5t yn dipdes
@ A‘dé +Vim5.£orm(’r foss .
. (er a V‘CSI‘SfﬁnCE)
The v ltoge acmss +ie diode is: T This 05 peak setondry
( V!(?)—. \/@) yo H-o?.e
@ Convert o EMsS
o . i f heeded.
The pel wwltese (depends on specs)
acnes the drode S
b fwice bhe @ Calcula turhns ratio
o= dg‘\'aerd _V_S__ei__ Vorl
Vo H-‘seﬂ VP{I’ or VSOL
2 =2 Vm

Tuice whet i+ Express as  n oo (32',")
WeLs W]'Hr\ nhD (,u!;dCl"H)f'

or |4 (Skrup)

What aloaat  full wave | @ Deter mine copecitor value

bridge 7 @ Dedermine voltege, power,
(wvrent raﬂw)s o
Com ponents.



E)(ﬁb\gh

\/o\,\ ave deSf.th.kﬁ o |Dower SurPL{ ‘pO\r Jhe qu voH'n9¢_
on a CaYhode roy tube .

Your Powey Source 'S

7 volks AC
20 ¥He

(10 vo Hs f’e«k)

The 5.4’;?\1 ash deliver 20-25 FV.

('DS v b\&)‘/ LOEV min, 5KV max ripylg)

With o loed curred of Ime.

Acsume o L0 volt dvop Y the diode-
(]:-)— s v‘(«“\' 16 dipdes fn seyfes_)

Choost & "—opo\os\,_
Thee find! Tives retro (i % Sec)
Capacitor

Vo H’D‘)‘L rating of drode
Pes k drode Current

Average prl'mar\/ carrent
Power de\fvered Jo [oadk

Rnnsend®

Topolegy . hel Fuave.

3 1

Pouwwr delivered 1o lood ®
@sxkv) (ime)
= 25 watbs

A\I-(\f“)( PY\I'\"lf\, Curreny

(Ime)(2500)= 2.6 A

Pc,n.t diode Current.

q=cv=(10" ){sx03)
- 50 x10?

@

rghom (0 volt drode loss.

Vpmsz 25 €V
V. = 20¢EkV
\/f: g ¥v.

L (J nor@ {‘rohg#a vrrear reststance

2S000
10 - 2500

e e e

Trny patn =

|7 2500

Copacitor :
| F C =L
| v

|

<

xi072

(5 21073 (2 x15")
= |0 )(lo—lz
= |0 pf

V0 H°3e n«}ii\j ot dide .
o kv.

=TT (|o'3XSO wo") \

(10 sk drodes )

=50 o7 \

— 12\/ E(’L)(c)
At= V"r . XS
Y o~ N 2
w

27 (1o k)

(o
S .63
~ M
| 26 wma? 126 %9

= 5 yo? =5SwmS

- _Q _ sowe! _
leqp™ BUT Tyt T

= IO m& («15

. wher on)

lewp % 20 ma.
pok



